
HEJ  © LIBER AB 
�

39

MATEMATIK   Gamma

K O P I E R I N G  T I LL ÅT E N   ©  LI B E R  A B
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Från binära tal till naturliga tal

  1	 1102 = 1 ∙ 4 + 1 ∙ 2 + 0 ∙ 1 = 4 + 2 = __________

  2	 1112 = _________________________________________________________________

  3	 10102 = ________________________________________________________________

  4	 11102 = ________________________________________________________________

  5	 10012 = ________________________________________________________________

  6	 11112 = ________________________________________________________________

  7	 100002 = _______________________________________________________________

  8	 110002 = _______________________________________________________________

  9	 110102 = _______________________________________________________________

10	 100102 = _______________________________________________________________

11	 110012 = _______________________________________________________________

12	 100012 = _______________________________________________________________

13	 101012 = _______________________________________________________________

14	 111012 = _______________________________________________________________

15	 111112 = _______________________________________________________________

16	 1000002 = ______________________________________________________________

17	 1000012 = ______________________________________________________________

18	 1010012 = ______________________________________________________________

19	 1101002 = ______________________________________________________________

20	 1011112 = ______________________________________________________________
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FACIT

Från binära tal till naturliga tal

 1	 6

  2	 7

  3	 10

  4	 14

  5	 9

  6	 15

  7	 16

  8	 24

  9	 26

10	 18

11	 25

12	 17

13	 21

14	 29

15	 31

16	 32

17	 33

18	 41

19	 52

20	 47


